WeMI®MaloMo EMB0 &1 AVANIIE | EBS1AeS.

QN20 HH@1 AVAAIIH Y EBUY al@MIo RIMTOLI BM (@JWIM ald0BIVAIGM. B0Mqlo QWA
M1elaldo aJeld@MAN @)U WEBBINMME:1Ljo, BSA1HHAIIQ0 ald0omBglejo AUSHAWW]do

9al18WINTHNNISMME". DM D alOMAMIM” AISHAVWW]Ho DalGWIN1HNNQ|SAN 8@ BRO1N]

&S1WI6M° @D aldh@aN® .

1.8®@ mip0zROm00] GReOD: Old:3aNEBRSeS agsmo 108 @M ag@ alvosgme’ Gr@Im™?
Hint: n(n-3)/2 = 108

2.80M0 O@ @SBG2JVWIV &0 aBER@AVoa 0D @:51wons 400 #15en0?
Hint:n(n+1)/2 = 400

3.88MJ0 alBo 4 HaI@allmaVo 3 988 ¢UYMIYES DSAB 2 WIW af)(@ ~lB@BUd &51wodd 310 @)1%0?
Hint:n/2(2a+(n-1)d) = 310

4.3 AV EUYIMIWYHS @SBV 3 alBEBBOS @ 42, WenManelo 2520 .aI36BUd agal ?
Hint: (x-d)(x)(x+d) = 2520

5.8@ MIg0EROMING GHITMHU MVAIDO CUPHEMIWILIEM. aGQa) 62101Q GHIN3 120°.
9 IO@OIY®IOMV0 5, af)@ AUNEBSME GRGIM™?.
Hint:n/2(2a+(n-1)d) = (n-2)180

6.8@ Qomomleel ame@g00w AB o CD o M @ cvawlessmo. MA=6 , MB=8 , CD=6 ag)#:103
MC,MD agyamial éo6mods.
Hint:x(6-x) = 48

7.8 Qomomleel ammodg0@ AB o CD o mIg1weqe pud gomomlm” saigloes P olwd
@slagmo.PA=12cm , PB=4cm , CD=2cm agy@)@3 PD ag@ ?
Hint:x(x+2) = 48

8.AB @ qomomleag aiyoavmoem’. P an@leel a@ milazol ,C gomomleel 8@ milaaje @oerm.
AB 96 elosninoem” PC . AB= 25cm ,PC=10cm, AP ~j)@® ?
Hint:x(25-x) = 100

9.P agyam snNaza@mian’ 8@ QJomom1eelas Qlos] o®agalo@aem’ PC .gsieom AB agan emoend
MmI51o®" P 01@3 cvawlesan.PC=12cm ,AB = 10cm , PB &0m0@:.
Hint:x(x+10) = 144

10.a100300 MYBUGla)M@ABAM EME’ YODEBBSHS CHADEIBUS GELISH GRM:EI0 11cm @ryem”. Gyed:
210080 65 7 af)©;103 ERAIWAS BRYOEBUY B0,
Hint: Ar*+ A(11-r)*> =654

1l.8@ VoD (rgo_ﬂoemg@s DVOHAMHNIU 1CM BSMRI6M” 21610J@00, 2CM GOQIEM” A I0EQIS;.
)8 103 @RAIYHS MIBEBIBUY BHI61MOD:.
Hint: ((x-2)/2)* + x* = (x+1)?

12.10cm 21010J@0288 8@ MVA2IDOMNA QS @YSS: l0g B0 576cm’ ag)@® 1030106163
msonam’?
Hint:b*+2bl = 576

13.8c¢0 GRONS8 8@ ERARL CLIBNJo YODAYNBQo 21080 E213MMB G IOWHA 21010JQ00 5cm,
@RS, BRYOD: 0l |80l 337 af)er1d3 Hald® @YD af)a® ?
Hint:2 Ar° + Arl =337

14.6@ s1@oomloag ajgsal’42cm, olm1demo 108cm?. QI0EEREHS MBo 06D
Hint:x(21-x) = 108




15.6 Mggss omN aigs 2cm M1 $RA6NASS AS@1EHITNATNRISNIM GRY:ODI?
Hint: x*+ (4-x)*= 4

16.(6, 5)agam eazail@d mlanoe 10 Qemlg” @RE:0eIQ880D0Y GRAUOH L8N milazallend
MY 21V HUD nf) D .
Hint:(x-6)*+ (y-5)°= 100 , x=0 enge»

17.(x+2)*+ (y-3)*= 8 ag)am Qomo X @oousem 6 ImElasan MNGIHBOS Y 2ld:TVoRIIHUD aBAl.
Hint:y=0 eog®

18.(x+2)*+ (y-3)* = 25 agyan @omajo X-y=0 ag)a» 100 a10ay00 INE1HSI MNGIHBOS Y alds
VoY & UB agl?
Hint: y = X gbgs

19.x* + y* +4x-6y+5=0 ag)an QODOD]OG CS@B0Jo BRONY0 SO,
Hint: x>+ 4x+....... + 2 -By+.....= 5.t Q18Q0 0yBOm@OGHOMOV DI

22l®AOW TMVonIyHU3 &GH.)
20.x*+ y* -5x-6y+9=0 agiad QJomom)emd 8 6mIga0@oam’ Y @dHo af)an’ dmS1 0N @83,

Hint: x=0 snge»
21. om0 ®01eI8s 33 B1emMO10M H6H0I01QeS aflo] 1 @rs1woem”. a&ha1e Mlam” 3@ HOLISOD

)OI E@R®” &:lemQlaoss]@d afleomss mowi® 1/25 @reemes1cd @lemalend
DUIRINOHDD BRYOHDAD ?

Hint: r = x , R = X+2 ag)gess. x*/(x+2)* = 1/25
22.06n3 ©a151::g1en0] a8eooamleo alel MoaEsgleiss 50 a1IgEEMe; 3@ HalSIw1es 06®1ERIEHIU

S 2J0IaM I3 ERWIGHAEM”. EMEIGEMIMDo HEMSaf GG aldDOAN®o af)FOD
20W1WISH1WIT E6NZo 2JAUIMDIHHMBS MVIWI® 1/5 BRI, af)es1@3 ag)@ 2JQIaD
I SHgeME” @ROIW1@3?

Hint: x(x+5)/2500 = 1/5
23. x> + 2X *+ 5 a)am Mig0a 1300 06NE" B8N0 G M0 IBEEBGOS YANMaLLINIW] af) g3

LOWYMISEMI?

Hint: x> + 2x + 5= 0 ag)aD nIa0a 130310 a1@1a000)EEM=I ag)an’ EMISR S
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